RftEoBITRG 1. RERT FAGEEM S (20 3)  (FEAFHHE)
(BA7 : B A M)
R2 R3 R4 R5 R6

Blo#E (a) 165. 000 385. 000 305. 000

AT AJREE (b) 6. 000 2. 000 4. 050
ZASHE (c=ath) 171. 000 387. 000 309. 050
HIEERE DN D OMEEVER (d) 0. 000 0. 000 17. 742
EERR (o) 171. 000 369. 258 326. 792

FUE R () 0. 000 17. 742 0. 000

9 LARZK MR (g 0. 000 0. 000 0. 000

AH% (h = ctd-e-T) 0. 000 0. 000 0. 000
FREFIM+AR A= (h = (g+h)/(c+d)) 0. 000 0. 000 0. 000
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ATEOPITRIL 2. REET T AERME (£ 3)  (ELGHE)  B5K - Z24)
(BT« B 1)
R2 R3 R4 R5 R6
Blo#E (a) - 58. 500 45. 000
ST A AR (b) - 0. 000 0. 000
ZEAF4HE (c=atb) - 58. 500 45.000
AITAEIE D & OMEBER (d) = 0. 000 32.419
XELFEEE (e) - 26. 081 34. 092
VR R () - 32. 419 43. 327
5 BRI (2) - 0. 000 0. 000
AH%E (h = ctd-e-f) - 0. 000 0. 000
REK WA+ R (h = (g+h) /(c+d)) - 0. 000 0. 000
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